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K.C.5.E. BIOLOGY PAPER 231/2 2006
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QQ,Q"’ SECTION A (40 marks)
%@O@A LL the quesiions in this seciion in the spaces provided,
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I Thedi below represents bones at a joint found in the hind limb of & mammal.
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{b) (i) Mame the substance found in the place labelled W. {1 mark}
(ii)  State the function of the substance pamed in (b) (1 above. (1 mark)
{c) Name the structure that joins the bones together at ine joint. (i mark}

....................................
.........................................................................................................

(d).  Staie the difference between ball and socket joint and the one illustrated in the diugram
above. £1 mark)

..........................................
...................................................................................................

{e) Name the structure at the elbow that performs the same funciion as the putc{T:a- .
mar

.......................................................................
...................................................................
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{ay  Neme fwe disordersgR humans caused by gene mutation, (2 marks)
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icy  in mice ihe allsle for black fur is dominent io the aliels for brown fus,
What percentage offspring would have brovwn fur from a cross between helerozygous
bivck mice and browy mice? Show your working,

Use letter B to repiceent the aliele for black colour. {4 marxs)

{a) Distinguigh betweer pyranad of nuimbers and pyranid of biomass. (% marks?
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) Give thiee reasons for loss of eneray from one trophic favel to another in 2 food chain.
(2 Give thiee reasons for joss of ensrgy from one trophic
(3 mmarks)
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{cl [escribe how the belt transect can be used in estimating the population of a shrub in a
grassiand. (3 murks)
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NN ) From which plant organ was the section obtained? {1 mark):

(i Give two reasons for your answer in {2} ahove, {2 marks)
foh Nasne the paris lubelled J, K and L. {3 marks)
4
A
£,
(Wi State twa functions of the parrl lubelled B (2 marhs)
.

gy

Al dirgrnn pelow represents i human foetus in o nlerus.

(i) MNarne the paet labelled 8. {1 murk)
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) (i) Name the zypes e?b:md vessels found in the structure labeiied Q
N
Q
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{i). @ ngte the difference in composition of blood fuund in the vessels named in (b} (i}
N 92bo 2 mark
Qg; S0 zbove, {2 marks)

<& 6

?é\ suryapEERsEEn ware PITT I R E e i PR R RO LM NP F AT AN NN N NN AP R AR R ARG R P RE R SRR TR TR R bR d Al e
.

Q& \\ P B e - P T L LT L L T T T P e T e T T L R PR R R T AddEIRERED
.

2 <
Qc\’\\ (€)  Name two faatures that enable the siructure labelied P carry out its function,
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idy  State the role of the part tabelied B (i mark)
SECTION 8 40 marks}

Answer guestion § (compulsory} in ihie spaces p.?{:wﬂ;c:r’ { and eisher guestion 7 or 8
in the spacss grrrv::‘-z r*"er guegstion &,

An experiiment was carried out 10 Inves stigate the effect of hormones on growih of isterst !:ﬂsi?ﬁ
of theee pea plants,

e

The shoots were ireated as fiowe:
Shoot A - Apical bud was mmoved. .
Shoot B - Apicel bud was removed and gibbereliic cid placed on the cut snoot.

Shoot O - Apical bud was ieft intact,

The le ngm” of the branches deveioping from the lateral buds wers determined &t reguist
imigrvals.

The resuits ohialned are shown ia the iable below,
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gy Length of branches in mitlimetres
| Time in days

Shoot B | Shoot ©
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the same axes, dgW graphs to show the'lengths of branches against time.
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() (i) Whun wus the igt%th of the branch in sheot B on the 7th day? {I mark)

>

,,,,,, B

(it} h?@a 8id be (he expected length of the branch developing from shoot A on
1&15};:,'? (1 mark)
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ich C?Q'ﬂo,%vm for the results obtained in the experiment. {6 marks)
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Wiy was shoot T included in the experiment? {1 mark}

{2} What is ihe importance of gibberellic acid in agricelture? {1 mark}

T p e T e T e P e T T R AL LA L]

™

8] Stale bwo pirys J.i:p\,glCJ processas that are brought about by the spplicaiion of
gibbereilic scid on planis. {2 marks)
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; Diescribe how the human Kidaeys funciion, {20 iarks?
8 Fiesorine how water movas from the soil 1o the feaves in a res. (20 marks
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